. BXx+5(x~2y)+y=

{a) 13x -9y (b) 9x—y+5 {c] 1Ix-¥ (d) 8x* - 16xy — Oy
4 = 2 then x =
x 0 0 12 4
2
()3 b 5 © = @ 3

Ifa=-3andb=-5, 2a-(3a—-4bh)=

(a) =17 (b) 5 {c) 37 {d) -3
4_1.
X ¥y

-3 -3 4y - 7 -3
(a) x-y (b) Xy () Xy @ X4y

. The graph of 5x — 6y + 30 = ( crosses the y-axis at y =
(8) =5 (b} § {c} -6 (d) 6
. The graphof 2Xx +y =4 is

A Y ¥
@) (b) © _ @ )
< 0 Y [ ] o
¢ | % 23K Tl ax
v
L3 -T=3-x, x= - A
10 5
(a) 1 (b) = © 7 (d) -1
. The x-coordinate of the solution of this system of equations is: Ix—-4y=12
Sx+y=-46

@+ - B2 © 0 @ 3



9. Ifa=-12andb =8, then | 2a

(a) 48 (&) O

~3b|=

(¢) —48

10. The solntions of x* - 5x + 6 =  are

(ay 6, -1 () -3, -2
11. 14%- 32 =
(a} 126 (b) 42

12. [.-4x5y3} (ley} =

(@ -8x’y* () -8x'%?
9x% + 6x
13. =
(a) 9x? +2 (b 3x+2
4 30x% + 15
C24x%+ 12
5 5 5
(a) 3 (b) T
2 _
5. x“ -9 _ 20 _
53 12x + 36
-3
o ] 4ix=-3)
@) ®

6. Solveforx: Sx+7<Bx-4

(a) x2 11 {h};z%
yi
17. 75 -
1 /6
@ \/; ()
18.  45x%7 =
(a) 9x°y> (b) 3x%y?

c} 3,2

(c) 9

(©) -2x7y?

{c) 2x

(c) 2

(c) =3

(c) :-ILSﬂ

(©) 3x’y’+/Sy

{d) 52

d) 1,6

(d) 3

(d) -2x 1%

(d) Ix + 6x

(@ 12

@ L&)

(d)y xz-11

ofS

(d)

@ Sy



19, 8x-3(x+2+Tx-N=

(a) 12x°-32  (b) 12x-27 (cy 10x + 3 (d) 16x—-22

20.1f —— +10 = ——  thenx =
X=35 X=35

@ =2 ® 3 @ %



algebra answers

Basic Algebra Sample Test Answers:

I.a I1.c
2.c 12. a
3.a 13.b
4.c 14. c
5.b 15. a
6.d 16.b
7.c 17.d
8.¢ 18. ¢
9.a 19.b
10. c 20.d
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